
qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt 

nfut 
s}lkmot

            cfly{s ljsf;

              s[lif tkm{ 

1
s[lif ljsf; sfo{qmd 70÷30 

;fe]]mbf/L sfo{qmd j*f g+= 2 1930000

               ko{̂ g

1

lzjfno dlGb/ ;fljs sf]/f]jf/L 

j*f g+=7 j*f g+= 2 50000

2 sflnbf;sf] sfln dlGb/ dd{t j*f g+= 2 100000

3 hfd'g bf;sf] xg'dfg lgdf{)f j*f g+= 2 50000

4 t'nfrg ;Gyfn a:tL dfemL yfg j*f g+= 2 50000

5 efs'/df/L ldng rf}tf/L lgdf{)f j*f g+= 2 100000

6 x]dgf*fuL ^f]nsf] rr{df zf}rfno j*f g+= 2 50000

7 x]dgf*fuL dfemLyfg lgdf{)f j*f g+= 2 50000

            ;fdflhs tkm{ 

        vfg]kfgL tyf ;/;kmfO{

1 vfg]kfgL \̂o"a]n ljt/)f j*f g+= 2 200000

  n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/)f

          dlxnf tkm{ 

1 cWoog cjnf]sg e|d)f j*f g+= 2 60000

2 #/]n' lx+;f ;DalGw tflnd j*f g+= 2 60000

3 ;r]tgf s]Gb| lgdf)f{ t'nfrg j*f g+= 2 100000

         afnaflnsf tkm{

1

;fd'bflos ljBfnodf cWoog/t 

ljBfyL{x?nfO{ emf]nf ljt/)f 

sfo{qmd ;+rfng j*f g+= 2 80000

      cflbjf;L hghflt tkm{ 

1 Nxf]%f/ kj{ j*f g+= 2 15000

2 cflbjf;L tkm{ cGo sfo{{qmd j*f g+= 2 85000

         blnt ju{ tkm{ 

1

blnt ju{sf df=lj= txsf 

ljBfyL{x?nfO{ ;fOsn ljt/)f j*f g+= 2 55000

       Ho]i& gful/s tkm{ 

1

Ho]i& gful/s ;Ddfg tyf %ftf 

ljt/)f sfo{qmd j*f g+= 2 55000

          ckf+u tkm{ 

1 ckf+utf ;xfos ;fdfu|L ljt/)f j*f g+= 2 55000

        lk%*f ju{ tkm{ 

1

dxf/fh yfg dd{t zf]let ofbjsf] 

#/ pQ/ j*f g+= 2 55000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

2 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng x'g] 

:yfg 

cg'dflgt 

nfut 
s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

2 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

      k'jf{wf/ ljsf; tkm{ 

1

cfnsrg /fhj+zLsf] #/ b]lv 

blIf)f efs"/df/L hfg] af^f] j*f g+= 2 700000

2

xkgf d*L{sf] #/ b]lv k"j{ blIf)f 

x'b} hfg] af^f] u|fe]n j*f g+= 2 700000

3

gsfg' /fhj+zLsf] #/ b]lv pQ/ 

ls:gL ^f/#f^ tkm{ hfg] af^f]  j*f g+= 2 500000

4 lqd'lt{ rf}+s b]lv ;'s'Djf;L ^f]n j*f g+= 2 300000

5 t]nL ldn b]lv ldof ^f]n hfg] j*f g+= 2 200000

6

clVtof/ sNe {̂ u|fe]n af^f] hf]*g] 

af^f] u|fe]n j*f g+= 2 300000

7 t]hgf/fo)fsf]] #/ b]lv klZrd j*f g+= 2 100000

8 Xo"d kfOk vl/b j*f g+= 2 500000

pmhf{

1 phf{ ;f]nf/ ljt/)f j*f g+= 2 100000

      kmf]xf]/d}nf Joj:yfkg

2 k")f{ ;/;kmfO{ sfo{qmd j*f g+= 2 200000

        cGo lgdf{)f

1
j*f sfof{nosf] k|f+u)fdf df^f] 

k'/]ofO ;lxt ^fnL nufpg] j*f g+= 2 200000

       ;+:yfut ljsf;

1
sd{rf/L tyf kbflwsf/Lx?sf] 

cWoog cjnf]sg e|d)f j*f g+= 2 200000

7200000


